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032) 

a) 

b) A shadow is formed when light is blocked by an object
c) Rectangle

033) a) S
b) Anna could measure the number of leaves
c) Plant will die as leaves are unable to trap any sunlight to make food to

survive and seed leaf will have dropped off
d) Amount of water given to each plant

034) a) Circle * Increases
b) The water gained heat from the bottle of milk
c) The temperature of milk will be at room temperature as heat flows from

hotter region to colder region.

035) a) Digestion is the process of breaking down food into simpler substances
and absorbing the food into the bloodstream

b) The smaller the size of food substance X, the shorter the time taken for
food substance to be completely digested

c) Chewing breaks down food into smaller pieces, decreasing time taken
for the food to be completely digested

. .

036) a) Strength
,. 

b) Flexibility
c) G. When the 300g weight was placed on it, G did not bend. Material G

is not flexible and can hold the phone camera up so that it does not
shake when taking photographs

037) a) Rod M has become an electromagnet
b) The like poles of rod M and the bar magnet were facing each other,

causing them to repel each other

038) a) Water does not have a definite shape
b) Air trapped inside arm C cannot escape and is taking up most of the

space in Arm C so water cannot flow in Arm C to occupy the space the
air is taking up.

c) Remove the stopper at Arm C
d) The water level in other arms will decrease

039) a) More than 250cm3 

b) There are air spaces in between the pebbles and air take up space

Pg 2 



c) 2, 3, 1

040) a) There is no light source in the sealed box for object R to reflect light into

Nora's eyes and light enables us to see

b) Nora can add a lighted torch into the box

c) The reflective strips on the road reflected light from Nora's father's car's

headlights into Nora's father's eyes, allowing Nora's father to see the

road in the dark from a distance

041) a) The drop of ink moves towards flask 0

b) The rods conducted heat from the hot water to the wax, letting the wax

gain heat and melt.

c) T, it took the longest time for wax on top to drop, showing that it is the

poorest conductor of heat so it will no gain heat from the hot drink

easily, hence not letting Percy's hand feel warm whenever he holds his

mug with hot drinks.
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